
Анализа домаћег задатка       01.12.20. 
 
405.  а) ݔ ∙ ݔ ∙ ݔ =  ଷݔ

          б) ܽ ∙ ܽ ∙ ܽ ∙ ܽ ∙ ܽ = ܽହ 

          в) 2 ∙ 2 ∙ 2 ∙ 2 ∙ 2 ∙ 2 = 2଺ 

          г) (−3) ∙ (−3) ∙ (−3) ∙ (−3) = (−3)ସ 

          д) 5 ∙ 5 ∙ 5 ∙ 5 ∙ 5 ∙ ܾ ∙ ܾ ∙ ܾ = 5ହ ∙ ܾଷ 

          ђ) (−2) ∙ (−2) ∙ ݕ ∙ ݕ ∙ ݕ = (−2)ଶ ∙  ଷݕ

          e) ቀ− ଵ
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406.  а) 3ଶ 
          б) 2ସ 

          в) 5ଷ 

          г) ݔଷ 

          д) ݕହ 

          ђ) ݖ଻ 

 
Вежбање 

410.  б) (−3)ସ = (−3) ∙ (−3) ∙ (−3) ∙ (−3) = 9 ∙ 9 = 81 

          в) (−2)ସ = (−2) ∙ (−2) ∙ (−2) ∙ (−2) = 4 ∙ 4 = 16 

 

412.  а) (−2)ଶ + 2ଷ = (−2) ∙ (−2) + 2 ∙ 2 ∙ 2 = 4 + 8 = 12 

          б) (−2)ଷ + (−2)ସ = (−2) ∙ (−2) ∙ (−2) + (−2) ∙ (−2) ∙ (−2) ∙ (−2) = −8 + 16 = 8 

 

 

Домаћи задатак:  
410. г,ђ  , 411. б, г  ,  412. (примери који нису урађени на часу) 


